7/10/2020

Desc KF Product Code Details Qty S/each S
Rim Joist 2x6x10 2 S 1150 S$ 23.00
Header 2x6x10 1 S 1150 S 11.50
2x8x10 2 S 1533 S 30.66
Floor Joists 2x6x8 7 S 920 S 64.40
Rafter 2x6x12 5 S 13.80 $ 69.00
Siding 5/4x6x8' 13 S 9.75 $ 126.75
NA From Kelly Fradet [0 g /axex0t | s $ 1250 $ 62.50
Floor Advantech: 3/4" x4x 8 2.5 S 40.00 S 100.00
2x4x10 1 S 813 § 8.13
Furring 2x4x12 8 S 9.76 S 78.08
Posts 4x4x8 5 S 1601 S 80.05
4x4x10 2 S 20.00 S 40.00
Blocking 2X6x8 2 S 920 S 18.40
Classic Rib Colorfit 40 Standard Color 29 Ga steel
Roof Panels 22825xx 3'x12', color: Charcoal 4 S 3816 S 152.64
Drip Edge SREW 10' x C4-1/2, Brown, rake edge 1.25 S 899 S 11.24
Total w/metal roof S 876.35
Connectors (per shed)
Rafter TieDown 9 S 160 S 14.40
Joist Hanger 10 S 158 S 15.80
Post Bases 7 S 599 S 4193
Total Connectors $ 7213
Fasteners (per shed)

Lags, 4" 1 S 3000 S 30.00

Base of Posts 22 S -

Header to Post Timberlok, 2.5" 14 S -

Brace top Timberlok, 2.5" 12 S -
Deck Screws 3" Deck Screws, 5lb 1 S 2700 S$ 27.00

Siding 3" Deck 63 S -

Floor 3" Deck 112 S -

Firring 3" Deck 42 S -

7/8" Stitch Screw Painted #14 250/bag
Roof, Stitch 82348xx Color = Charcoal 0.12 S 2615 § 3.14
2" Woodscrew Painted #10 250/bag

Roof, Wood 82113xx Color = Charcoal 0496 $§ 2077 S 10.30
Nails 1 S 499 S 4.99

Joist Hanger 40 S -
Nails 1 S 549 S 5.49

Joist Hanger to joist 40 S -
Nails 8dx 1.5, lb 1 S 499 S 4.99

Rafter to rafter 54 S -
#10 Screws I Simpson#10x 15 (foheader) I 36 s 018 5 648




Total Fasteners

Grand total, each

Center roof
firring

roof panels
Roof, Stitch
Roof, Wood

Drip Edge
Total

grand grand total

22825xx

82348xx

82113xx
S5REW

2x6x10
2x8x12

Classic Rib Colorfit 40 Standard Color 29 Ga steel
3'x12', color: Charcoal
7/8" Stitch Screw Painted #14 250/bag
Color = Charcoal
2" Woodscrew Painted #10 250/bag
Color = Charcoal
10' x C4-1/2, Brown, rake edge

3.42

0.12

0.432
1.1

11.50
18.40

39.84

11.00
8.99

S 9239
$ 1,040.87
$  69.00
$  36.80
$ 136.12
$ _

$ 4.75
$ 9.89
$ 256.56

$ 2,338.30



